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5x4=20
5x5=25
5X7=35

5x6=30

Write a multiplication equation to
describe the model.

5 times more

Q0000 0]

sl Chuagl qupdall Alslea as)

pall pliziwl
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440

530

540

135

Multiply.

.#_y“"

RIS D

(&8
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1,278

1,268

1,208

1,218

Multiply.

203

gt pu]

3ie b a6Vl damis dic Lps
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150

1,200

120

1,500

Humaid swims 475 meters at each
swim practice.

If he practices Monday, Wednesday,
and Friday, about how many meters

will he swim that week?

ot Ba S A e 475 At
Aabd) o g8

aaally ela Y1y SV all G 1)
b aghi AN AT s Uil s
el 138 S

wpall 2l paas

o
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151

164

792

356

There are 369 boxes of biscuit at the
grocery store. On Monday, 128
boxes are sold, and on Tuesday 90
boxes are sold. On Wednesday,

205 more boxes are delivered.

How many boxes are there now?

ANED jada B Cugludl (i By 369 A
a3 b5 90 5 OV pg g 128 gu
pgs dadla) g 205 L9 iy ¢ SN
YOV Bagagall Sigal) 236 praal oS . olaa )

adaalll Slwell J>



gozll Ao yolgs
Which number sentence represents faandl A2 Jaadl Anald Jiad daxe dley ,__-;i
the Commutative Property of

Addition?

(9 + 45) + 21 = 9 + (45 + 21)

e

83-83=0

78+ 39=39+78

654 + 0 = 654 A



Sl slac¥l Jolge

Which set of numbers correctly dasao dlujhy oS ) (e dSgara ¢_5§
shows all the factors of 247 €24 2x)) Jalgs aan
O 1,2,3,4,6,8,12 a

O 1,2,4,6,12,24

o

O 0,1,2,3,4,6,8,12,24 <

O 1,2,3,4,6,8,12,24 d



ozl | a.vb JYATY)

Which number sentence can be used gzl a8l lgaladiu) (e Al sl dlaaldl L

to estimate 3,601 + 8,3127 ©3,601 + 8,312
O 4,000+8,000=12,000 2
O 4,000+9,000=13,000 b
O 2,000+8,000=10,000 <

O 3,000+ 8,000=11,000 d



Which is the correct expanded form

for 75,026 ?

70,000 + 5,000 + 200 + 6

7,000 + 500 + 20 + 6

70,000 + 500 + 20 + 6

70,000 + 5,000 + 20 + 6

auSJl slagll Belys

sl dasaal) daugal) divall A L
¢75,026
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80

90

70

60

il atas spany

Estimate 637 + 8. 637 + 8 Unki aua



(7 X 10) X (7 x 5)

(7%x10)+ (7 X 5)

(7+10)+(7+5)

(7 +10) X (7 +5)

Which expression represents the
model?

?E:\,&“ o g:m aadll L

&gl duols plaziwl



pByYI 83a=is dlacl zyb

Find the unknown in & Aggaal) Aol )

2,514 - 2,360 = L .2,514 — 2,360 = N
O 254
O 4,874 b
O 4,870 <

O 154 d



slacVl & lis

Which number sentence is not true? flaaa b .uig:m dgaall Al La

O 875,032 < 875,302
O 875,302 < 875,032
O 875,320 > 875,302 :

O 875,032 = 875,032 d



ol danub

On a trip to Abu Dhabi City, 9 people A8l 9 clais lan) & .{__,41&_,,.1 oA sy A

spent a total of AED 3, 600 on hotel aadl) Gi€ s Jilie AED 3,600
rooms. If they shared the cost Tagia 1A JS 281 o (ggludlly 4Rk |9 LEaS 13)
equally, how much did each person
spend?
O AED 40 3

O AED 32,400

iy

O AED 300 :

O AED 400 d



Qo pall

Khaled bought a house. Siie A gl
His payments are AED 1,000 per .AED 1,000 4, abaledl als

month. ¢ 45l 8 A AL aduu oS
How much will he pay in 8 months’

time?

O AED 7,000 E
O AED 9,000 b
O AED 8,000 <

O AED 80,000 d
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60

23

27

12

Multiply.
S5Xx4x3

5Xx4X3

b ]

slacil s



6,841

2,205

2,215

6,831

There are 4,523 students who rode
the bus to school today. There were
2,318 students who came to school
another way.

How many students were there in all

at school today?

cagadl dsaall Y el Uik 4,523 Jisud
A Qg Auapsall ) Gllh 2,318 caly
Tassll Aepral) A Dl 2 Jlay) IS a8

&Sl slacdl goo

(&)



Every classroom has 24 desks. Li€a 24 Jad JS A8 dag
There are 30 classrooms in the s yial) 8 Slad 30 Sla
school. Chanjdall 2 GilSal) 23 as

How many desks are in the school?

O 720
O 620

O 900

O 54



doudlly upall Gu dslell

Which is a related multiplication fact S dayfial) Gpall 3ilda gaa) aa A L ‘_53

for16 -~ W = 8? 16 ~— B = 8
O 8x2=16 2
O1x16 =16 b
O4X4=16 .C

O16+4=4 d



&Sl slacVl wu a5

What is 101, 339 rounded to the ic il A 101,339 sl izl L
nearest ten thousand? S|
O 101,000 a
O 110,000 b
O 100,000 c

O 90,000 d



